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What is the best reproduction strategy as a
function of the duration of the feeding season ?

Allocation of resources to growth, storage and reproduction are key processes in
the life of an organism, and these processes form trade-offs that influence the
fitness of their life-history strategy as a function of the environmental condition.

Considering the grasshopper and the ant story by Jean de Lafontaine: is it better
to '‘enjoy' the summer (spawn during the feeding season), or store reserves and

be able to spawn at some later time ? %
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This study has been inspired by copepods but the results are gene ak

The grasshopper and the ant - Jean de Lafontaine \

Calculation

'/

Assuming a 1 year life cycle, we calculate the number of offspring, by dividing the year into times of interest.
Development time

Ty 3 cases as a function of the feeding season duration:
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— 300 ugC

== 600 pgC For short feeding seasons, individuals should choose a

mmm 1000 pgC capital breeding reproduction strategy, with a size at
| | maturity as large as the feeding season allows.
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For long feeding seasons, income breeding is preferable,
with a size at maturity as small as possible.
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